SF0 445y i = X 15
T XATF 4 - BiRT 2R ABBEE
p| 7 TR aRe  E W % A e T Tk e | s [
&| BIHEAT A & 2 S 4 MBI P 0D £ D o DX ’ jﬁm S.glr‘fiﬁ T.E : -’ ’ i
RERLIA o Hitke 30 | 1.1|% 5. 14 8. Srﬁ nrﬁq 11]
BT = VR R P (R AR AT O B3 — | BRAR VB A b Y Y LY
_EETLAS 0 Hitdk
1 HEEHE EOfBHIROED ST [ 40 | L1 | HEJE VT b T b
VN D MR
2 _ERELIAF DR 30 | 1.1|H 5 6.8r@ 12rfm 12
B HERT 1L B P VR T B IR AR LA 0D M5k — | B&H (A b HERE b e B e LT
TR O HiR
1 #ARE EORBRMEOED ST |40 | 11 |E B b e b
U B Hide
2 hEEA o i 30 | L1|H 5. U 6.8 12 12
V| —&i 1 ~6TH Eoei — | B Jﬁlttzﬁﬁttﬁiﬁﬂzﬁ[ﬁbh?@
AT /N L ik S B A P D f2 B XS — 3.3 11— —
_EECLIA 0 HiE 30 | L1 6.7/ 12t 128 12
FEE ] R IR FE IR BLHIIR N D J= M X3 —f 3.3 12 - -
bFELAA O i 30 | L1|F 617F 13Fm 8. Tﬁ 8.3
5 BFET1~5TH Eee: — | B A LR YER bR AR T bR T
LEFEI1~3TH Eeei — | B %tbﬁgtt@ﬁﬁttf’éfﬁtt@
| ACHKET it SR BT PN 0D J L 35 —t 3.2l 4.9 -  —
ERCLLSR oD Hirksg 30 | L.1|4 5.8 145 9. T@é 9.9
NG ﬁﬁ??rﬁkmﬂ%i%ﬂﬁhﬁa)ﬁ:’&) BATWDHHL | 40 1.1 (& B Y B B v b v
EFELIA 0 30 | L1|F 5.9 11 8. 0l 8.0
»y FREE1~5TH %ﬁ%@k@ﬁﬁi&f@ﬁ@fﬁ&) LRTWAH (40 | 1.1 Jﬁbhﬁ%ttﬁiﬁt?ﬁ[ﬁbﬂé
RERLIA O I 40 | 1.1 — 23 124 12
2yl AL
1 SR P 0D B A X i 4.8 7.9 —|  —
2 kLSO 30 | L1 7.gF 12@ 21t 21




SF0 445y i = X °H
i CET A4 - BRT LI ABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
2y ESHET FCRAS o Hir e
1 BEEREUIEL P o B A X —l 3.3 49—  —
2 LERLIA o i 30 | 1| 6. 7 7.9 5. 16 5.1
x| L HET1 ~4TH |2k — | BRAR |V bk YR b T b M b
L| F{METL - 2TH Eeit - E%%Em@gkﬁﬁkﬁﬁﬁﬁ
5 BEEIR)I i S 1 B BB A 0D f P 1 Xk —|Fl 3. 20 11 — —
RERLAS 0 Hhi 30 | L1[P 5 A 126t 7.0 7.0
(LSRN P S e B b o8 PR 0D JE Rt Xt —Ht 3. 28 12 | —
LIS 0 i 30 | L1|F 6.7 17HL 7.260 7.2
BT 7K - R S 1A B AR PN D JR X0 s TR 12l | —
LFRLLA o Hie 30 | L4 6. TH 13 7. 08 7.0
AL - 2TH |23 — | B Jﬁlttzﬁﬁttﬁiﬁbtﬁ[ﬁblﬂﬁ
7| @ARTL - 2TH |2 — | B | Pt YT b T b
MENT1 - 2 TH EEei: — | B Jﬁlttiﬁﬁttﬁgttﬁﬁﬁbtﬁ
T| SEFHET W H BN EIE L Y RO HiEE — | B B LCYERE b e H e LT
ERELAS 0 Hit 30 | L1|F 40F 6,88 4. 28 4.2
& tisgHET Eﬁ%@k@ﬁﬁiﬁt&iﬁjﬁ)ﬁb HAILTWNDHHL
1 SRR — | BHR B LG b YT L M L e
2 LRI o HiE 40 1.1 Ebhﬁ’,l;ttﬁ'?ﬁbti’éfﬁtt@
EELIS O Hi;
1 Fﬁ19%%w\ﬁﬁﬁwﬁﬁﬁm
(1) BB o B H X —idi 3.3 8.0 — —
(2) LSt oHg 40 | 1L.1|% 6.7% 8. 30 7. 1 7.1
2 _EERLSh
(1) BEERE MR O E K —h 3.3 6.7 — —
(2) BRSO HE 30 | L1 5.8 6.8l 7. 1 7.1
| PNEET I ~6 T H |2 — | B

EJH:XEF HL Y& b HErT b




SF0 445y i = X 3E
i CET A4 - BRT LI ABEE
e R ks @ A o w4 [P PEEERTIBEITOGES
N H & Fo SR BB PN D F2 P L 0k ’ fﬁm 25&‘@ 4.@ B i |
RERLIA o Hitke 30 | 1.1|% 6.3 8. Srﬁ 8. zrpq 8.2
E FBE 1 ~3TH gt — | BSHR |8 b L L Y bR
E| HRET1~3TH |2 — | BEAR (V) bl YR b YT b T b T
PAUWERT 1 ~4TH |2k — | BSHR VB P YEE LR YR P T
S BEANHET 1 ~4ATH |23 — | R [V T b e T L
HEIETL - 2 TH |2 — | R |V S b YT b Y b T
HEE1~6TH |2 40 | 1.1 —| |
o BRI 1 ~5TH | — | AR |V LR LY e Y b v
(L1 FA T gﬁ?r@ko)ﬁﬁi@tmﬂz@fﬁ“&) SRTWBH |40 | 1.1 | e bR e
RFLLASR > HiE 30 | L1|F6.7F 114 7. Tm 7.1
o FnGET 1 - 2 TH EceiA — | BE#R VB Lb B bR b e b T




